
SPECIFICATIONS

*Overall Height                                                            92”

*Stroke                                                                        20"

*Diameter stators                                                        3 to 38"

*Overall Weight                                                     750 lbs.

*Manual Foot Switch, Min/Max. Pressure            120/150 PSI @ 1,800 lbs.

*Air Hose Max. Pressure            200 PSI

*Air/Oil Tank Max. Operating Temp. and Pressure  200 F. @ 150 PSI

*Oil Type, Fina or Citgo  244 oz. AW68

SW-1000AH-20

Air Hydraulic

20 Inch Stroke Coil Puller

"Air-over-oil"  Air

pressure is applied to

the top of a closed oil

tank.

 -Better control.

 -Smoothly Lift.

Advantages:

 -Slow  feeding  in  one

direction, with rapid cylinder

return.

PARTS LIST FOR SW-1000AH-20

ITEM PART # DESCRIPTION QTY

1 SW1001 Base 1

2 SW1002

Spider with 1/4"-20 Set ScrewsQR Block #2

1

3 SW1003 Column with 1/2" Diameter Swivel Ball 1

4 SW1004
Boom Cap with 5/16"-18 Set Screws

1

5 SW1005 Boom 1

6 SW1006 Hold Down Bars 3

7 SW1007
U-Bolt Stops

3

8 SW1008

2-Ton Hydraulic Jack with Handle

1

9 SW1009

Top Screws

3

10 SW1010

Worm Hose Clamps
10

11 SW1011

Black Air Hose,200 PSI, 1/2" Incoming Air

12 Feet

12 SW1012

Black Air Hose,200 PSI, 1/2" Separator to Foot Switch

2 Feet

13 SW1013
Black Air Hose,200 PSI, 1/2" Foot Sw. to Oil Reservoir

6 Feet

14 SW1014

Black Air Hose,200 PSI, 1/2" Foot Sw. to Hyd.Cylinder

12 Feet

15 SW1015 Chain Tensioner with "S" Hook 1

16 SW1016

Black Oil Hose, 400 PSI, 1/2" Oil Reservoir to Cylinder

10 Feet

17 SW1017 # 60H Roller Chain 10 Feet

18 SW1018 #60 Master Link for Roller Chain 2

19 SW1052 Small Pliers with Grade 80 Chain 1

20 SW1065

Heavy Duty Pliers with Grade 80 Chain

1

21 SW1021

Sprocket Assy. With Needle Roller Bearing

2

22 SW1022

# 100 Grab Hook with Chain Adapter

1

23 SW1023

Hydraulic Tie Rod Cylinder

1

24 SW1024

Hydraulic Cylinder Ram Adaptor Block for Chain and

Brass Plugs

1

25 SW1025 Air/Oil Tank with 3/4-10 X 2 1/4" Studs and Nuts 1

26 SW1026

Air/Water Separator with 1/4-20 X 1/2" Screws

1

27 SW1027

1/2" Barb to 1/2" Male Pipe at 90 Deg.

6

28 SW1028

Pipe Reducing Bushing 3/4" X 1/2"

2

29 SW1029

1/2" Hose Barb to 3/8" Male Pipe

2

30 SW1030

3/8" 90 Deg. Brass Pipe Elbow

1

31 SW1031
3/8" X 1 1/2" Galv. Pipe Nipple

1

32 SW1032

1/2" Barb 3/8" Male Pipe 90 Deg.

1

33 SW1033

4-Way Manual Foot Valve, 3/8"NPT

1

34 SW1034

Citgo or Fina Type AW68 Hydraulic Oil

244 oz.


